14—=3. AV VA=V (F7EEAREE) FARD

Rk 2 2 4R Rk 2 3 AR RE 2 4 4R ik 2 5 AR
X 2 FIH FIH FIH FIH FIH FIH FIH FIH
5 FE 5 FE 5 T 5 FE
(Gs A (G5 A # A 4 A
= i = 3,102 | 39,352 | 3,212 | 41,654 | 3,120 | 42,009 3,292 41,132
n = 869 8, 422 831 9,315 813 | 9,765 821 8, 989
TR B DA 549 7,930 517 7,581 552 | 7,713 570 7,784
T LA — A 125 951 80 635 106 863 119 1,041
[ S 238 3, 441 241 3, 424 230 3, 602 280 3,611
PR—F 4 JL— I 284 4, 447 249 3,934 264 | 4,443 280 4, 655
T Y= A= AT 4, 870 65 6,907 68 | 10,527 70 5,653
FL—=rZ—n 624 7,574 690 6, 397 684 | 6,479 704 6, 234
S A fiE 878 | 23,345 870 | 22,810 888 | 27,675 891 22, 412
% HM A — v 637 | 32,594 602 | 31,289 677 | 35,015 694 33, 467
T e} 722 1,264 578 1, 140 473 | 1,007 594 1,113
i s =X 0 0 1 27 1 30 0 0
A 7 8,075 | 134,190 | 7,936 | 135,113 | 7,876 |149, 128 8,315 | 136,091
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14—4. NMH#EFLZEDRN

K HEOE RS L) T4 TEE R & RN T4
SRaH & SRaE @
A T A FH
TR 22 4R 13 1,283 0 0
Rk 2 3 AR 9 875 1 100
Rk 24 AR 10 958 0 0
TR 25 HE 11 1,067 0 0
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